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Aufgabe 1

Setze die richtige Zahl ein.

a) 881 − = 821 b) 754 − = 714 c) 370 − = 300
d) 543 − = 523 e) 456 − = 446 f) 368 − = 318
g) 373 − = 333 h) 465 − = 435 i) 364 − = 314
j) 841 − = 821
Aufgabe 2

Setze die richtige Zahl ein.

a) 3801 − = 3301 b) 9495 − = 9295 c) 7849 − = 7049
d) 4811 − = 4311 e) 6622 − = 6122 f) 8974 − = 8074
g) 5960 − = 5560 h) 2995 − = 2695 i) 7349 − = 7149
j) 3832 − = 3532

Aufgabe 3

Setze die richtige Zahl ein.

a) 4199 − = 4197 b) 8507 − = 8501 c) 5716 − = 5713
d) 5317 − = 5311 e) 1557 − = 1552 f) 4537 − = 4534
g) 5646 − = 5641 h) 4637 − = 4630 i) 3667 − = 3662
j) 5197 − = 5192

Aufgabe 4

Setze die richtige Zahl ein.

a) 4636 − = 4606 b) 9454 − = 9434 c) 6685 − = 6605
d) 2819 − = 2809 e) 2278 − = 2268 f) 9987 − = 9947
g) 4698 − = 4628 h) 6277 − = 6237 i) 5634 − = 5604
j) 7297 − = 7217

Viel Erfolg!
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